

课后题

2022年5月5日 星期四 上午11:13

1. $F = I l \times B = 3 \times 0.1 \times \begin{vmatrix} \hat{x} & \hat{y} & \hat{z} \\ 4 & 3 & 2 \\ 2 & -3 & 5 \end{vmatrix} = 0.3 \begin{pmatrix} 29 \\ 12 \\ -5 \end{pmatrix}$

2. $F = I l \times B = \frac{\sqrt{2}}{2} a B \hat{y}$
 $B = \sqrt{2} l B$

3. $dF = 2dl \times B$
 $= 2 \int \sigma d\theta$
 $= 2 \int d\theta$
 $F = 2 \pi R l B$
 $F = \frac{F}{l} = 2 \pi B = \dots$

4. $F = I l \times B = \frac{q}{\Delta t} l B = ma$
 $F \Delta t = mv$
 $v = \sqrt{2gh}$
 $\therefore q l B = mv$
 $q = \frac{mv}{l B} = \frac{m \sqrt{2gh}}{l B} = \dots$

5.
 $F \cos \theta + F \sin \theta = f \cos \theta$
 $2F \cos \theta = f \cos \theta = \mu mg \cos \theta$
 $f = 2mg \sin \theta$
 $F = \frac{mg}{2}$
 $F = n l B \geq \frac{mg}{2}$
 磁矩 $\vec{m} = N I S = 2 N I R l$ 与斜面平行
 重力 \vec{G} 沿斜面方向的分力 $mg \sin \theta$
 $\therefore 2 \times 2 I R l B \geq mg \sin \theta$
 $I \geq \frac{mg \sin \theta}{4 R l B}$

6. $m = N I S = I S$
 $\vec{L} = \vec{m} \times \vec{B}$
 $d\vec{L} = dq \vec{r} \times \vec{B}$
 $m = \int \rho^2 r^2 dL$
 $= \int \rho^2 r^2 \sigma \omega r dr$
 $L = \mu B$

7. $H \times 2\pi r = I$
 $r < R_1, H = \frac{1}{2\pi r} \times \frac{r^2}{R_1^2} I$
 $R_1 < r < R_2, H = \frac{1}{2\pi r} I$
 $r > R_2, H = \frac{1}{2\pi r} I$

$\therefore B = \frac{\mu_0 H}{2\pi r} = \begin{cases} \frac{\mu_0 r}{2\pi R_1^2} I, & r < R_1 \\ \frac{\mu_0 I}{2\pi r}, & R_1 < r < R_2 \\ \frac{\mu_0 I}{2\pi r}, & r > R_2 \end{cases}$

$k_1 = \hat{n} \times (\vec{m}_2 - \vec{m}_1) = \frac{I}{2\pi} (\frac{R_1}{R_1^2} - \frac{1}{R_1})$
 $k_2 = \hat{n} \times (\vec{m}_3 - \vec{m}_2) = \frac{I}{2\pi} (\mu_0 - \mu)$

8.
 $\vec{B}_2 \rightarrow \vec{m}$
 $\vec{m} = \vec{m} \cdot \vec{v}$
 $\vec{p} = \sum \vec{p}$
 $\vec{W} = \vec{m} \cdot \vec{B}$
 $\vec{F} = -\nabla(\vec{m} \cdot \vec{B})$

9. $\vec{F} = (\vec{m} \cdot \nabla) \vec{B} = m \frac{dB}{dx} \hat{x}$
 $\vec{m} = M \vec{v} = \lambda_m \vec{H} \vec{v}$
 $= \lambda_m \frac{B}{\mu} = \lambda_m \frac{B}{\mu \mu_0} = \lambda_m \frac{B}{\mu_0 (1 + \lambda_m)}$
 $= \frac{3}{4} \frac{\lambda_m \mu_0 I^2 R^4}{(R^2 + d^2)^2} \frac{m}{\rho} = \dots$

10. $H \cdot 2\pi r = N I$
 $H = \frac{N I}{c} = \frac{4\pi \times 20}{0.4} = 2000$
 $\vec{B} = \frac{\mu_0}{4\pi} \frac{N I}{r} = \vec{H}$
 $\vec{m} = \frac{\vec{B}}{\mu_0} - \vec{H} = \frac{B}{\mu_0} - \frac{N I}{c}$
 $\vec{B} = \frac{\mu_0 \vec{m}}{\mu_0 (1 + \lambda_m)} + \frac{\mu_0 N I}{4\pi r}$
 $\vec{B} = \frac{B}{\mu} = \vec{H}, \mu_r = \frac{B}{H \mu_0}$
 $i' = M = \dots$

11. $H \cdot 2\pi r = \frac{2\pi r^2}{2\pi a^2} I, H = \frac{r^2}{2\pi a^2} I$
 $B = \mu H = \frac{\mu r^2}{2\pi a^2} I$
 $i' = M = \frac{B}{\mu_0} - H = \frac{\mu r^2}{\mu_0} - \frac{r^2}{2\pi a^2} I = (\frac{\mu}{\mu_0} - 1) \frac{r^2}{2\pi a^2} I$
 $r = a \cos \theta, i' = \frac{I}{2\pi a} (\frac{\mu}{\mu_0} - 1)$

12. $\frac{H_1}{\mu_1} = \frac{H_2}{\mu_2}$
 $B_1 = \mu_0 \mu_1 H_1, B_2 = \mu_0 \mu_2 H_2$
 $\frac{H_1}{\mu_1} = \frac{H_2}{\mu_2} \Rightarrow \frac{B_1}{\mu_1 \mu_0} = \frac{B_2}{\mu_2 \mu_0} \Rightarrow \frac{B_1}{\mu_1} = \frac{B_2}{\mu_2}$
 $\frac{H_1}{\mu_1} = \frac{H_2}{\mu_2} \Rightarrow \frac{H_1}{\mu_1} = \frac{1}{\mu_0} \Rightarrow \theta_1 = -$

13. $N I = \epsilon$
 $N I = 3 B_0 A l + B_0 A (l-d) + B_0 A d$
 $H \times 4l = N I, H = \frac{N I}{4l}, B_0 = \frac{N I}{4 \mu_0 l}$
 $B = \frac{N I - 3 B_0 A l - B_0 A (l-d)}{A d} = \frac{N I - 3 \frac{N I}{4 \mu_0} A l - \frac{N I}{4 \mu_0} A (l-d)}{A d}$
 $= \frac{N I}{A d} (1 - \frac{4A}{4 \mu_0} + \frac{A d}{4 \mu_0 l}) = \frac{N I}{A d} (1 - \frac{A}{\mu_0}) + \frac{N I}{4 \mu_0 l}$
 $N I = (\frac{4l-d}{\mu_0 A} + \frac{d}{\mu_0 A}) \Phi_B, B = \frac{\mu_0 N I}{4 \mu_0 (1 + \lambda_m) d}$

14. $N I = (\frac{l - 0.1a}{\mu_0 S} + \frac{0.1a}{\mu_0 S}) B S$
 $= \frac{1}{\mu_0} (l - 0.1a) + 0.1a$

15. $\epsilon = (\frac{L}{\mu_0 S} + \frac{3L}{\mu_0 S} + \frac{2L}{\mu_0 S} + \frac{L-d}{\mu_0 S} + \frac{d}{\mu_0 S}) B S$
 $= (\frac{L}{\mu_0 S} + \frac{3L(3L-d)}{\mu_0 S^2} + \frac{2Ld}{\mu_0 S^2}) B S$
 $= (\frac{L}{\mu_0 S} + \frac{3L(3L-d)}{(bL-d)\mu_0 S} + \frac{3Ld}{d\mu_0 S}) B S$
 $= \frac{L}{\mu_0} + \frac{(9L^2 - 3Ld)\mu_0 + 3Ld\mu_0}{(bL-d)\mu_0 + \mu_0^2 d} B \times$
 $B = \frac{(\epsilon - \frac{L}{\mu_0}) [(bL-d)\mu_0 + \mu_0^2 d]}{(9L^2 - 3Ld)\mu_0 + 3Ld\mu_0}$

16.
 $m = I S = \frac{\sigma 2R^3}{\omega} \times \pi R^2 = \frac{1}{2} \sigma \omega R^4$
 $m = \int_0^R \rho r^2 dL = \int_0^R \rho r^2 \sigma \omega r dr = \frac{1}{4} \sigma \omega R^4$

17. $N I = B_0 S \frac{l}{\mu_0 S} + B S \frac{d}{\mu_0 S}$

18. $\epsilon = B_0 S \frac{L}{\mu_0 S} + B_0 S \frac{3L-d}{\mu_0 S} + B S \frac{L}{\mu_0 S}$
 $= \frac{B_0 L}{\mu_0} + \frac{B_0 (3L-d)}{\mu_0} + \frac{B L}{\mu_0}$
 $\epsilon = \frac{\epsilon}{4\mu_0} \times 4 + \frac{\epsilon}{4\mu_0} (3L-d) + \frac{B L}{\mu_0}$
 $\frac{L}{4\mu_0} \epsilon = \frac{B L}{\mu_0}$